Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering Semester —VII Examination Dec. - 2011

Subject code: 360902 Date: 22/12/2011
Subject Name: Power station engineering

Time: 02.30 pm — 05.00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered Authentic.

Q.1 (a) Draw the layout diagram of thermal power station. Explain its working
(b) Discuss the advantages & disadvantages of nuclear power station

Q.2
(a) Explain the performance of an alternator on infinite bus bar along with vector
diagram.
(b) Draw the double bus bar system along with bus coupler & list its advantages.
OR
(b) List the probable fault occurring in the cables. Explain Murray loop test for the
earth fault.
Q.3

(@) Discuss the advantages & difficulties of interconnected system.
(b) Explain the necessity & application of PLCC
OR
Q.3 (a) Listthe advantages of FACTS. Distingush between TCR & TSR in context to
FACTS controller.
(b) Derive the condition for maximum power transfer through inter connector.

Q.4
(a) Explain the depreciation. Derive the formula for depreciation amount using
sinking fund method.
(b) Discuss the information available from the load curve.
OR
Q.4 (a) Draw theload curve & load duration curve from the data given below.
Time I2mmn. [ Sam. |7am. [8am. |12 tol |1 p.m.
to to to to p-m. to
Sam. |7am. |8am. | 12am. 4 p.m.
Load 5 7.5 15 30 12.5 25
MW)
Time 4pm. |6pm. [7pm. |[9pm. |[10pm. |11 p.m.
to to to to to to
6pm. |7pm. |9pm. | 10pm. |11 p.m. |12 p.m.
Load 22.5 35 40 20 10 5
MW)
Find (1)Number of units produced per day. (2)Average load
(3) Load Factor

(b) Distinguish between base load & peak load station. List the characteristic of
peak load station.

07
07

07

07

07

07

07

07

07

07

07

07

07



Q.5

List the different types of pollution occurring in the environment. Classify the
air pollution.
Write the short note on store purchase.
OR
List the method artificial respiration. Explain any one.
Discuss the responsibilities of shift charge engineer.
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e WaR Reletoll A-ulBaq] WURA Rl doj sl UMl
oscflaR UlaR R2otoll SlAEL Wal ARglAELAl uuUl 53,

As2 SLRAUM U Weld GRAGIR UR Ale2Ral2Re] USlHoU Ay

U SUAR U SHUA HAWR Alreuoll gl ERL Aot slaueloll ALE]l wlaticl.
Yl

SucHl Adl AeAd sleeoll €l olottal. wd slee HIzell YR U 22 AHX AL

622 salses RReH oll SlAEL Wal Y¥c{lll el
YlAALAL ot 33laitd aal Guallafldl Axestal.

2L

s A ALLAU oll slAEl wRuUA. Ag.AAEAU 53R ol deelul
LAl uR. wal LAUMR. oll dsleld AHestal.
822 5522 GlRL Al HETH UlR 2% ol AR AnAl

SlellAatetal umostall. llslol §s ol Actell 3YlalAget yeaut Aucls] Yot Al

As as R Hadl 1Bl uul s
Yl
oA wWAA (Aol Rl Als sl UA AS $YR2Uat 5l ENRA.
Time 12mn. | 5Sam. 7 a.m. 8 a.m. 12 tol | 1pm.
to to to to p-m. to
5 am. 7 a.m. 8 a.m. 12 am. 4 p.m.
Load 5 7.5 15 30 12.5 25
MW)
Time 4 p.m. 6 p.m. 7 p.m. 9 p.m. 10 p.m. | 11 p.m.
to to to to to to
6 p.m. 7 p.m. 9 p.m. 10pm. | 1l pm. | 12 p.m.
Load 22.5 35 40 20 10 5
MW)

(1) Rad gR1alel Gelot Ul Yolle (R) WAckx Als U (3) AlS
$s5220(l oLl 83l

A» As e Uls Als Rt A dslad sA. Uls Als R2etall
Aletl@sdtell A€l cett .

wallaReHl Gelot AUl el el YUgusloll AEL tlollal. sclloll YEMSlo]
a([s20L UHsLA
RRe{l WElo{lulsa uR gsatlu cull.

Yl

0O 2RO Aol 2]l datlal. oA A As AHLAL.
Mge e ARellaRell scttatelFAoll 22l 5.
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